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Section - | (English)

Q.No: 1 Choose the correct part of speech for the underlined word in the given sentence.
The musician played a melodious tune on the piano.

Verb
Adverb

Noun

Q.No: 2 Read the following paragraph and then answer the questions given below by choosing the most appropriate option
based on what is said in the paragraph

Environmental Conservation

Environmental conservation has become a global priority as the world grapples with the challenges of climate change
and biodiversity loss. Conservation efforts involve not only protecting endangered species and ecosystems but also
promoting sustainable practices. Individuals, communities, and governments play crucial roles in preserving the
environment for future generations. The urgency to address environmental issues has led to international
collaborations and agreements aimed at mitigating the impact of human activities on the planet.

What is a global priority mentioned in the paragraph?

Economic expansion

Technological innovation

Political conflicts

Q.No: 3 Read the following paragraph and then answer the questions given below by choosing the most appropriate option
based on what is said in the paragraph
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Environmental Conservation

Environmental conservation has become a global priority as the world grapples with the challenges of climate change
and biodiversity loss. Conservation efforts involve not only protecting endangered species and ecosystems but also
promoting sustainable practices. Individuals, communities, and governments play crucial roles in preserving the
environment for future generations. The urgency to address environmental issues has led to international
collaborations and agreements aimed at mitigating the impact of human activities on the planet.

What does conservation involve, according to the paragraph?
Exploiting natural resources

Ignoring endangered species

Promoting pollution

Q.No: 4 Read the following paragraph and then answer the questions given below by choosing the most appropriate option
based on what is said in the paragraph

Environmental Conservation

Environmental conservation has become a global priority as the world grapples with the challenges of climate change
and biodiversity loss. Conservation efforts involve not only protecting endangered species and ecosystems but also
promoting sustainable practices. Individuals, communities, and governments play crucial roles in preserving the
environment for future generations. The urgency to address environmental issues has led to international
collaborations and agreements aimed at mitigating the impact of human activities on the planet.

Why are international collaborations mentioned in the paragraph?
To create conflicts

To increase pollution

To promote unsustainable practices

Q.No: 5 Choose the correct punctuation for the sentence:

"The concert was amazing and | enjoyed every moment."

Colon
Semicolon

Period

Q.No: 6 Choose the correct word for a person who studies plants:
Ornithologist
Zoologist

Botanist

Q.No: 7 Choose the option that best expresses the given sentence in the opposite voice (active/passive).

The Taj Mahal was built by Shah Jahan in the 17th century.

The Taj Mahal is being built by Shah Jahan in the 17th century.
Shah Jahan built the Taj Mahal in the 17th century.
Shah Jahan builds the Taj Mahal in the 17th century.



Q.No: 8 Fill in the blank with the correctly spelled word:
Therecipe callsforone____ of sugar.

Teaspoone
Teasspoon

Teaspon

Q.No: 9 What is the synonym of "Esoteric"?
Mystical

Exoteric

Simple

Common

Q.No: 10 Choose the option that best represents the synonym of the underlined word in the sentence.
He led a nomadic life, traveling from place to place.

permanent
migrant

fixed

Q.No: 11 Choose the correct part of speech for the underlined word in the sentence given below.
The cat sat on the windowsill.

Adverb
Adjective

Noun

Q.No: 12 Change the sentence to passive voice:

"The farmer planted sunflowers in his field."

Sunflowers were planted in the field by the farmer.
The farmer was planting sunflowers in his field.

Planting sunflowers in his field was done by the farmer.

Q.No: 13 Choose the correct part of speech for the underlined word in the sentence.
The blue sky was clear and sunny.

Adverb
Verb

Noun

Q.No: 14 Choose the correct question tag from the four options given, that completes the sentence logically and
grammatically:

| am your friend, _?



amn't|
aren't |

isn'tl

Q.No: 15 Which sentence is punctuated correctly?
I'll meet you at the park tomorrow.

I'll meet you at the park; tomorrow.

I'll meet you at the park tomorrow?

Q.No: 16 What is the past tense of "teach"?
teach
teaching

taught

Q.No: 17 What does the idiom "let the cat out of the bag" mean?

Keep a secret
Hide something

Share a secret or disclose something unintentionally

Q.No: 18 Choose the correct option that completes the sentence logically and grammatically:
| enjoy playing chess, _____ my sister prefers playing video games.

or
nor

SO

Q.No: 19 Which sentence is in the past perfect continuous tense?
I had been working all day.
1 worked all day.

| was working all day.

Q.No: 20 Choose the correct article in English grammar, that completes the sentence:
| don't like flowers we bought yesterday.

an

No Article Required

Q.No: 21 What is the single word for "A person who writes a book?"



Journalist
Scribe

Poet

Q.No: 22 What does the word "grumble" mean?
Appreciate
Approve

Complain

Q.No: 23  Arrange the following jumbled sentence into a coherent order:
A. Dinner
B. Prepared
C. Delicious
D. She
E.A
F. For
G. Feast

F-C-A-E-G-D-B
F-C-A-D-B-E-G
D-B-A-F-E-G-C

Q.No: 24 Choose the correct option that completes the sentence logically and grammatically:
Playing cricket is___interesting than the movie.

very

much

most

Q.No: 25 Choose the correct singular form of "criteria”.

criterium
criterion

criterions
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Section - 11l (Arithmetic)

Q.No: 51 A shopkeeper

bought 24 plastic @681 6QRIR1 248 QIEQ eerigEg e del 400 ¢@ 6 36C QU6 TIARG
folders at Rs.400

verdozenand3s | @@@ T8l 330 C@IER @digen| GI'Acq YR 6TIQA 87 @6l 669

a0 hor ozen. | 81 20% IR QIGE Tlang 096 981 25% AINCA 65 @l |

Then sells plastic EXHE L ey
foldore a0, PREe J00 Fg4 Ry 69667 (2IGAIRT)
profit per dozen

and paper files at

25% profit per



dozen. What is the
combined selling
price of both?
(Approximate)

Rs.2217.5 Rs.2217.5

Rs.2197.5 Rs.2197.5
Rs.2119.5 Rs.2119.5

Q.No: 52 ' Vicky
completes a
job in 45/2 g o 3 s 2 5
days. }Npat_ : PR 45/2 9F 6Q @ @Il 6EIF FAT | 2 ¥RER 69 I QIFIS 6R6E WG KL
part of the jo
will he doin 2
days?

2/45 2/45
4/45 4/45
1/9 1/9

Q.No: 53 You invest
Rs.1,00,000
in a fixed
deposit
(FD) with
an annual
interest
rate of 7%.
The interest 0 g s g - e
Comp?lunds 2licidl @ldw 790 del Wit et gy Qe (FD)EQ 1,000,000 'l @69€ @9
annually. i - E i ﬁ -
Yolu deci%e 14e @199 WP Paae eI 2lidd 2 @9 din o7y @R0Ia9g 99 @93 |
to leave the = i
money 2 @8 dee Zlddla ZliRiaadea 6 ol QEe”
untouched
for 2 years.
How much
will you
have in
your
account
after 2
years?

Rs. 1,14,690 Rs. 1,14,690
Rs. 1,14,390 Rs. 1,14,390
Rs. 1,14,590 Rs. 1,14,590

Q.No: 54 The average of seven numbers is 96. If  qIaG CI°gliiq TIG 620E 961 9G gela 2°84l 60, 6669 ledd
the first number is 60, what is the

average of the remaining numbers? “°GlYIo g 6mes 7
72 2
60 50
92 96
102 102




Q.No: 55 The ratio of Anand's present age = o :
to hiswife's agais et e SRS RBEIGQ @4 I9° OIF TQIF @UIQ 2IAIS 64 2I6G' |

sum of their ages is 60, whatis | A& paqioe ool @ald 60, 666 AIFET PEIG 0D 60667

Anand's present age?

I <<

33 Years 23 ad

34 Years 34 od

36 Years 36 a9

QNo:56 g e IORRE K9G
2,2_ 2,2
474 e

g 8

g

P 4

8 8

4 4

2 4

1 1

2 4

QNO:57 gt ORI GOG :
1B+3x2+5= 18 +3x2+5=

14 14

g8 8

a7 432

QNo=58 1646 cost price of an article is Rs.85 ¢S GRIG Gl oy ‘;lﬂq 85 g'arl %" ﬁﬁ’ﬂ ?lﬁl{ 15 G'arl,
and the selling price is Rs.75, what is the . . .
loss percentage? (Approximate) EGET flo6 godle 6Q6a? {Efl&iﬂl@ﬁ?]

12.54% 12.54%

12% 12%

11.76% 11.76%

QNO59f the Simple Interest for s yearsisRs  ¢I& 5 @@ €if 4QQ Gl 7% Gl LIAER 2500 CF TIEE |

2500 at 7% rate of interest. Find the e i
compound interest for the same time: Aelle delet il @@3‘5‘ el 6Re0"

Rs.2875.36 Rs.2875.36
Rs.2575.36 Rs.2575.36
Rs.2675.36 Rs.2675.36



Rs.2775.36 Rs.2775.36

QNo: 60 \ can complete a task in 9 Q@ A 605N @Idiq 0 Grea Agd @RQIGe Ye° B 6a@ @idig 27
days and B can complete the | @960 Adjd QpI0IGN, 666@ 2Ig 6518 @RAIg 6a¢lISR Q1D 6960

same task in 27 days, how long
will they take together to finish it? SI0IE 6aea?

9 days 9 Qg
8.25 days 825 @'ﬁ‘
3 days 3 6‘5:-1‘

T B

Q.No: 61 \é\{?hat is the Least Common Multiple (LCM) of 5 and 59° 6 Q AES ARIQE ﬂam (LC M) Coee?
50 50
60 60
18 18
QNo:62 g e AARRRE RO :
2-3(3-2) +3+2= 2-3(3-2) + 3+2=
2 2
1 1
6.5 -6.5

Q.No: 63 A merchant buys 5 kgs of

roses forRs.60 perkgand  g@gdl @4adigll 5 KERIGI 6N @eql A8l 60 ewlea @4 450 gaiea
sold it for Rs.450. What is

the loss or profit percentage @@ @aI2| GG @¢]l AN Y 67667

made?
50% Loss 50% Q6
45% Loss 45% 3G
45% Profit 45% @iw
50% Profit 50% aiiw

Q:No:64 if you randomly choose amonth of the 03 2Zijél @R 1@ FI9E 9HF RS, 6569 696 62918
year, what is the probability that it is '

September? ARIGR EREG7?
11/12 11/12
1/12 1/12

2/5 2/5



1/4 1/4

QNo:65 g e IORIGDE K9G :
e 1
3 g 7

1
3
1
5

10
21

S BRI i

Q.NO: 66 What is 92% of 2507 250 @ 92% e@687?
222 222
226 226
230 230

Q:Not 67 Arecipe requires 3 cups of flowrand | cqii5q 6088 lis 3 991 2161 6 1 /4 TIE GaRIQ 96 299

1 cup of water. What is the ratio of

flour to water if both the ingredients adale ﬁ.ﬁ %J:é] QOIS 5ReES 2161 (3 g@g_ Eigig@ [y aTag )

are tripled?
1:3 1:3
3:9 3:9
3:3 33

Q.No:68  \yhat percentage of 7 litres is 490 mi? 490 ARRea 7 meee 660 gaee?
o

7% 7%

5% 5%

4% 4%

ANo:63 Arumne  @6él 6GIQIR e B5a gosig a9igd 8 ferfica caeiea 2IBge @RI g6 64

o e at GI9IE 2 BeRIficn 696160 6IF @02I6E, 6062 69 4 QI RF| 49IE 68R2lI6T |

distance at

a speed of = —

8knF; Jh. If @G‘F‘iﬁ‘ﬁ? it Eoqy] @Qklmel QQ@I E@ee |
he had

moved

2km/h

faster, he

would



100km
160km
140km

have taken

4 hours

less. Find

the

distance

covered by

the runner.
100km
160km
140km

Q.No: 70 If a car travels at a speed of 70

0.5 hrs
3hrs

Kilometers per hour, how long will ‘9@ 6816~ @16 @1 & 70 FERITITR 696I6R QIS 766, 6669 140

it take to cover a distance of 140 = = P = =
Kilometers? TEmlFie'a Qﬁﬁt@'i ot m@:@ £WEE ARL miga”?

0.5 hrs
3hrs

1.5 hrs

1.5hrs

Q.No: 71 The average marks

58
68
63
60

of a group of seven
students in English

is 55|3(. Thfe indi\;idhual PRUF1EQ 2 Gl VISRIQTT Flea 219 6928 581 E4e1RIQ 6 wela YRGS
marks of six of them - —— -

are 58, 62,48,80,55 ¢llim 58, 62, 48, 80, 55 G 40 Qe®| d49¢] 9iow ¥iel diY ¢lw e@es|

and 40. Find the

marks obtained by

the seventh student.

58
68
63
60

No:72 Abag contains Sredballs,3 1 aoyimng quigien 56 mim @R, 35 6aIRIC @R 6 28 996 @R 05

2/3
1/5
1/2

pink balls and 2 green balls. If

you draw a ball, what is the = =
T batilty that it isgreeny | @ 2NITIS IR ¥R QIFER, 6969 12| UG 629IQ AHSG 6RE67

2/3
1/5
1/2

Q.No: 73 Which of

the

following

rumbersis | SlRgIe 2oal CRIQ 609 AEl 12 99° 32 @ AIgR(HCF) YR geatar ges?
factor of

the HCF of

12 and 327



4 4

QNo:74 in a box, the ratio of Shirts to Pants is  6@lIG~] QIg6a AT B CYILE 2gUI 5:4 O&8| A& agaia 818
5:4. If there are 81 clothing items in

total, how many Pants are there? sdigia ditig)l E’jﬁé 6E5Q 6R0IEE w60 QYIS 21872
36 36
32 32
©
28 28

Q.No: 75 After 5years
Chotu will be
twice his
present age.
What is his
present age?

N

5 @d C6a eRIG' PERCIGD FRAQ YmlGlsl 699 | QIG! PRGN G CREE7

20 years 20 Qé
15 years 15 faué
5 years 5 Q‘Ei
Section - IV (General Knowledge)
Q.No:76 Which of the following has the power to m‘aﬁ Flalgl 62650 6Q16 62311 AIFRI NS 6U6TE
transfer any civil case anywhere in India? A5G dRien ARl Sa6l 0887
President R
Prime Minister Hellaiz
Parliament %

Q.No: 77 ' \who among the following wrote ‘The White Tiger'? foRge OIRe! fkIQ B4 'Q YRGS SIRGIS SAYYER?

o

Aravind Adiga ZoEe BEd
Salman Rushdie HAmtlle crEElo
Kiran Desai =laly el

Q.No: 78 Who among the following is the current National @ﬂ%‘m%" gl @4 QEFIRE TSR el alelgislalial
Security Advisor (aS of January 2024)7 {E’@Eﬂ‘;ﬁ 2024 q@l}



Brajesh Mishra geEd fg

Arvind Subramanian Bl0Re Qe
Arvind Panagariya BRER QIIGGEl

QNo:78 The magnitude of an earthquake s | oRaag 61961 F9RAYS FARIQ 699F FIRI €T AQUAIN?

measured by which of the following?

I

Gigaton Scale QTR S%m
Gamma Scale Gl GG
Newton Scale i 6]

Q.No: 80 phitarkanika National Park is situated in which state?  Geoebiel FI0K P9Y0 600 SIFYEE FI9R0?

Bihar Qi

West Bengal QElIeer

Jharkhand Glesia

Q.No:81 Name the present Capital city of Qatar. FEIGE QUGG AIFIGT AL06 QI S
Minsk 25

Baku Gl
-

Ouagadougou 3EI6IISY

Q.No: 82 which is the longest National Highway in India? QUSRI FIRME QISP 6oeR7
me

NH-19 NH-19

NH-6 NH-6

NH-44 NH-44

Q.No: 83 Which British Governor General was associated =
with Abolition of Sati practice? a1 92l 969 990 608 §7¢ SRds 6REG0IR e gem?

Lord Curzon G‘l@ Qﬁc@

Lord Lytton alafalalel



Lord Canning RE GG

Q.No: 84  In stock markets, what is meant by dematerialization
of securities?

2R SRS, f:l%}l@@‘& @’?E?@ﬂlﬁllﬁﬂ@glﬂ Q 2l a7
Stock prices of shares linked to GDP &. & 4. (GDP) AT d°ge E|°§1§3_§_'@Q e ¢lm
Electronic holding of the shares replacing the paper certificates @lElE Jellde ol E*E]EIIQQ_@QQ @Eﬁ!ﬁ%t@ﬁ E@I@:

The falling of share prices below the daily cutoff mark £U0Q QF B IO 060 691G Clml i<l

Q.No: 85 In which of the following present day country, is the oldest
civilization of the world, Mesopotamian Civilization
situated?

India
Iraq

Pakistan

Q.No: 86 ' In which year the Reserve Bank of India was established?
1934
1935

1947

Q.No: 87 Where is the Headquarters of World Trade Organization
located?

Paris
Geneva
Madrid

Q.No: 88 "Sangeet Natak Akademi", the apex body in the field of
performing arts in the country, was set up in:

1953
1950
1955

Q.No: 89 'Yangon Stock Exchange' is situated in which of the
following countries?

Vietnam

Cambodia

Myanmar



Q.No: 90 Which of the following elements is a Non-Metal?
Sodium
Chlorine

Lithium

Q.No: 91 Which authority conducts elections to Corporations,
Municipalities and other Local Bodies in a State?

Election Committee of India (ECI)
Ministry of Urban Development

The Municipality or the Corporation itself

Q.No: 92 ' In which year was the Atom bomb dropped on Hiroshima

in Japan?
1942
1948
1940

Q.No: 93 Which of the following is International Women's Day?
3" March

8t May

15t May

Q.No: 94 Who among the following is the first Indian recipient of
the Man Booker Prize?

Arundhati Roy
Jhumpa Labhiri

Salman Rushdie

Q.No: 95 Which of the following South Asian countries has the
least population density?

Sri Lanka

Pakistan

India

Q.No: 96 Who was the Emperor of the Mughal empire in India when
British East India Company established its first factory in
India?

Akbar



Shah Jahan
Jahangir

Q.No: 97 Which of the following is the name of the program which
is/was launched by the chief minister of Odisha to ensure
the supply of safe drinking water?

Janashakti

Jalamission

Mission Jala

Q.No: 98 Ozone layer protects Earth against what?
Magnetic Rays
Infrared Rays

X-Rays

Q.No: 99 Largest brackish water lagoon of Asia is located in which
of the following state?

Gujarat
Tamil Nadu

Karnataka

Q.No: 100 DNA stands for:
Deoxyribonucleic acid

Dangerous Negative Acts

Demand Natural Access

Section - V (Computer Knowledge)

Q.No: 101  If you want to send an email to multiple people, without
the
receiver seeing the list of other recipients, then which of
the following
is the best possible approach?

Include the other recipient's ID in the blind carbon copy tab.
Include the other recipient's ID in the carbon copy tab.

Send the mail to all recipients at once with email ID separated by a
comma.

Q.No: 102 Which of the following shortcut key is used to search for
a text in MS PowerPoint?



Ctrl+A
Ctrl+B
Ctrl+D

Q.No: 103 Which layer is best suitable for Synchronization, error
detection and correction?

Presentation Layer
Application Layer
Data Link Layer

Q.No: 104 What is the full form of ARPANET?
Advanced Research Project Agency Network
Aluminium Roaring Particular Nodes

Always Resolve Permanent Area Near

Q.No: 105 An official email had to be sent but some errors were
encountered.
After careful examination, it was observed that the email
address
format was found to be incorrect.Which of the following
represents
the correct format of the same?

Xyzabc.website.info
www.Xyzabc.Info

website@info@xyzabc

Q.No: 106 Speed of the printer is measured in ppm. What is the full
form of ppm?

Pages per minute
Print page minute

Print phase per minute

Q.No: 107 Pratyushis
First

Fifth
Fourth

fastest supercomputer in the world.

Q.No: 108 Which of the following is not usual file extension in DOS?

.bat



.com

.exe

Q.No: 109 The technique used for transmitting signals
simultaneously over a common
medium is

Switching
De-multiplexing

Transmission

Q.No: 110 In computer security, what does the phrase "malware"
mean?

Mobile Hardware
Malicious Software

Memory Layer

Q.No: 111 A stylus used to provide input through CRT monitor is
called ____.

Digital tablet

Printer

Light pen

Q.No: 112 DSL stands for:
Design storage layer
Digital subscriber line

Donor service link

Q.No: 113 The cell having bold boundary is called cell.
Mixed

Relative

Absolute

Q.No: 114 In networks, a small message used to pass between one
station to another

is known as:
Byte
Frame

Token



Q.No: 115 An email sent from unknown persons for improving the
sale, image, appeal or other characteristics of a product

is called
Junk
Trojan
Important

Q.No: 116 Which one is considered to be a antivirus software?
Kaspersky

Mcafee

All of the above

Q.No: 117 Which of the following excel function is used to combine
the text from two cells into one cell?

CONCAT
CONVERT

COMBIN

Q.No: 118 Where data is recorded in a floppy disk ?
Rounder

Tracks

Sectors

Q.No: 119 What part does computer security user awareness play?
It increases computer speed

It optimises network performance

It enhances keyboard functionality

Q.No: 120 Which among the following is not a mobile operating
system?

Symbian
Android
BlackBerry

Q.No: 121 First generation computers were based on :

transistors

ICs

conductors



Q.No: 122 Which of the following is not a DSL technique?
High-data-rate DSL

Low-data-rate DSL

Asymmetric DSL

Q.No: 123 What function displays row data in a column or column
data in a row?

Index
Transpose

Rows

Q.No: 124 I1BM 1401 is :
Third Generation Computer
Second Generation Computer
Fourth Generation Computer

First Generation Computer

Q.No: 125 Which short key is used to bold highlighted text in a word

document?
Ctrl+S
Ctrl+P
Ctri+C

Section - VI (General Science)

Q.No: 126 What is the general formula for the ionization of
magnesium hydroxide (Mg(OH),) in water?

Q.No: 127 The transfer of pollen grains from the anther to the
stigma of another flower of the same plant

Geitonogamy

Autogamy

Xenogamy

Q.No: 128 The body cavity which is lined by mesoderm is called



Mesoglea
Coelom

Aceolomate

Q.No: 129 A phase transition from solid to liquid is called
Boiling
Melting

Freezing

Q.No: 130 What color of light has the shortest wavelength?
Violet

Green

Red

Q.No: 131 Which component of the nervous system encompasses
nerves originating from the spinal cord and extending
throughout the body?

Neuraxial Network
Thoracic Plexus

Cerebrospinal Circuitry

Q.No: 132 What factor plays the most significant role in the growth
spurt during adolescence, given the interplay between
genetics, hormones, and environment?

Sleep
Exercise

Digestion

Q.No: 133 Which of the following is the primary purpose of bench
terracing in agriculture?

To promote uneven distribution of crops
To reduce the degree of slope

To increase soil erosion

Q.No: 134 Which one of the following shows the correct relationship
in terms of reactivity?



Q.No: 135 Which of the following devices measures the potential
difference between two points in a circuit?

Ohmmeter
Ammeter

Circuit

Q.No: 136 What is the reasons that metals such as sodium and
potassium are kept immersed in kerosene oil?

To increase their density
To make them conductive

To enhance their luster

Q.No: 137 How does yeast's method of cell division differ from that
of bacteria and protozoa?

Yeast undergoes binary fusion
Yeast reproduces through budding

Yeast exhibits whip-like fission

Q.No: 138 The primary function of the bile juice in the small
intestine

Neutralizing acidic stomach contents
Breakdown of emulsified fats

Absorption of nutrients

Q.No: 139 Do all variations in a species have equal chances of
surviving in their environment?

Yes, always
Only depends on the number of variations

No, it depends on the nature of the variations

Q.No: 140 As per the five kingdom system of biological
classification, a biologist would classify 'Chrysophytes'

under
Fungi
Protista
Animalia

Q.No: 141 Define Coulomb

It is the Sl unit of electric charge



It is the Sl unit of electric resistance

It is the Sl unit of electric potential

Q.No: 142 Solenoid is
A coil of insulated rubber wire wrapped closely in the shape of a cylinder

A coil with many circular turns of insulated plastic wire wrapped closely
in the shape of a cylinder

A coil with many circular turns of insulated copper wire wrapped closely
in the shape of a cylinder

Q.No: 143 What is the chemical formula of benzene?

CgHe CgHe
CeHs CeHs
CgH,4 CeH,4
CeHs CeHs

Q.No: 144 What problems might result from producing electricity
solely through thermal power plants?

Reliable Power Generation
Overreliance on renewable resources

Limited fuel availability

Q.No: 145 Na,C03.10H,0 is known as -

Washing soda
Baking powder

Bleaching powder

Q.No:146 _____ protects the inner lining of the stomach from the
action of the acid under normal conditions.

Mucus
Pepsin

Lipase

Q.No: 147 Which of the following statements about ozone is
correct?

Ozone is harmful in both stratosphere and troposphere.
Ozone is beneficial in the stratosphere but harmful in the troposphere.

Ozone is beneficial in the troposphere but harmful in the stratosphere.



Q.No: 148 Among the options given, which is an example of non-

metal.
Carbon
Gold
Silver

Q.No: 149 Which of the following is a method of sustainable
management of forests?

Slash and burn agriculture
Shelterbelts

Deforestation

Q.No: 150 The main function of values in veins is to
facilitate the simple exchange of materials
control blood pressure in veins

prevent backflow of blood



